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< (@ No. 1 - 2) : Read the TS (yRE B2 1-2) : 515 FIET 3 UF
Dir?":;;"‘ informqtion and solve the w3 oy 3 2 5t Sj_v 5% 5T |
follow pased on it. ‘ . i i
uusl‘w"; a, an intelligent baby girl, plucks RI3H, fog guhs 28t BIt, BIM3F TH
O n i ‘ ) . v -
e e e i by o | ¥ S v i 2 s o i 30
app*™® . o days. . y
\ consecut‘;: to how many apples has she J l ﬁ? gn ?ﬁf Wf_@é?f Jfa @r 3 Haﬂ%(’
X motcll‘\‘:rd from the orchard daily, she gives f%’? e fdd Ae 33 3t 89 wrust Hrar 4]
wo, 311‘; tollowing sheet to her mother : fors T fédt Y ]
i W = Figure 1 ﬁ?‘e’ 1
o 200
o DT 200 175 Jn 180
VDo: w1 1 160
B EETaEEIRE ===t
‘;k ‘; g g ¢
i EEEEEESEIRE EESEES
= o 80HE |
£z ® N E B % N
28 6 HEEEn ; HEm
°® / d 40 :
g 4 | & i
c e | 5 ...
We Ty e e T T = T I % 8 5y ®le g
S &y s 032 & & & 7 T2 O% O o5 & %
\ 0 { a“ Ctl ;3 ; + + + (= — N o ~H 0 2 ~ +
0 ~ _ v o~ & A . ©
r\; i '\\ Three days taken at a time fed wH 3T fis =)
S s+
Vo[ F Figure 2 fizg 2
W
: 10 z 5
=] t
3 S 260 - Fp '
’5: 250 ] g
o g 240 -
% S 2304 — .
2 ¥ 220 E
S E B S
200- : .
A T A R R s oo R
) 3 ﬁ AT I I - T T T
(2p] <} [Te) © o~ +
N:‘ £ B E’ g g § & 3 & & 3
. X< — N ™ < 0 +
Five days taken at a time ' ' ) . ©
fed mH =2 O fos
L. What is the number of apples plucked .
onday6? / | L é‘%%‘:’%ﬁ?iﬁﬁ@é’f%?
() 45 | (@) 45
S 35 (b) 35
©) 25 () 25
@) Cannot b determined @ forfas &t = 7 "awr
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m y 1 . \ f T A Hf éT
d““‘“‘min“ 'f“\“\;\“:::_\‘v‘u, WAL possible o | g fold fires! M).‘\,‘ H«_,(-fﬂ,r »l,‘.M i3 "
Plucked by S\\nk\u:i“n;\"'l{“l“w of applow pd) faradl & eaar vaa y
~w o ) W 0
) 5
(h) b
© 3 © 8 o
iwc(::‘:m:h;nQo Of the abgyg ) Qaz fed ot w5y .
table gives th, I(V(:» o) e following | aerfest (s 8: 3 - 6) : [ Gt
nternational Oy \A»“”. record in ( ne-Day | g@srt @ foar I WIS ffere
Nume | 1 TICRet of o batsmen, & fyarag J5 |
ame | Mate) , =
Plnv:\:“ ll‘)‘l‘““lxﬂ Rung Avorago st | ud Mo | udht | gEe | wiAZ
R P1 . ayed | Scoreq ferfiarg g
W\ 5 . o
A\ 20 48 | 1800 | 404 . 48 | 1800 | 400
4 P2 50 L 5o, | o PL | 50 48 | 180( 0-0
VP | e St 452 | s0 | b0 | 2034 | 4s2
Ps | g |8 11679 | 365 P3 | 46 46 | 1679 | 365
b | M09 | aos ||| p e | 4411539 | 405
\:5~~19 011806 | 516 ||| 5 | 40 | 88 | 1806 | 516
, ThPG L 42 | 4 11445 | 495 P6 | 42 | 40 | 1445 | 425
. totﬁl a:s;:ge is galculated by dividing the YIRS (average) & ¥¥gH gnmar I® It o
7' matches in which (e pne, (O8] number of | gt T2 TR fes ¥@am wigz §
In which the batsman got out, ; 52 & o3 ST Wit Y,
3.  Who among the following dj o . -
, 2 g did not got foHs fxgar Narhns (&
’3"0 out for the maximum number of % fes % q ) SUIE]
W times? | ) T e &t Femrr 9
" a  Jd) Pl (a) P1
4\ (b) P2 (b) P2
() P5 () P5
(& Pe () P6
V\} 4, If the average is calculated on the | 4. Hog ’%HB?S EEIY %f‘?ﬁm T g 3
o basis of the to.tal innings 'pl.ayed, nifonr g2 3t fam @t AS fog WS
&Y whose average will see the minimum W Igde 9
“* change ? @ P
@ (@ P1 oo
Y (b P3 (b) P3
(¢) P5 () P5
(d) Peé ~ (@ Ppe
5. How many of the batsmen got out in | 5. foi® éﬁg‘;‘-f At EEA e feg
- all the innings played ? (’H)'@=20 ¢
(a) 0 a
(b) 1
(b) 1
(¢) 2
() 2 o .
L) Cannot be determined @ fomfs 5 st s e
(D-3)
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L ’ ‘\ I/ lound/l il gy » Lilar/'{ en
i ‘ "
IR, (‘ \\ | i pe . » W/‘,I p JI
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D P VAV )
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iy WIS vl of 600 10 pth i I A 2
it OO0 g ) BAN) Y
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LR (i w000 Vo gpeass

o Akt vt ABO. Mahn o V00, B0ty Vininde wid 485,100 Yem with biro. 16 be

O B0 Sy by Vs Juekad, be would e ahle 1) sy the jackes on
O D g ¥ the jakes

m :'N,IA’:::: :’ou|ol~'rf1 th) 425 Vounds
(i, i () Cann, e debermine

ettt (s &0 dudl] gl @ oufiog Wiyl 4 mpnpfais gt i iy 7

FIEEITIE

wh WY gz |77

] B R I/ 1%
| ® v I A / 10751«

i 6 W=

. 1065 e
ooy ' I L | — 106,54

(I LT RRETT RN I 1010 20 41 24 17 19 20 21 24

Ui‘a U/l '1;1'7,
0w A ur e dd B geaad 0 ai o nas 21 7 o gz 7 G aeE a3 =
A0usE B0 dh dt a=all

(n) 2,000 g (h) 5400137
(0) 6,000 04 (d) 3,000 34z

1o (va Nee Y dhior 400 B Y Haz gn 18,200 9uZ, 225 WEE W3 35,000 TE
b1 e Qo Nae udles it aee foo afit 73z maer 3 3w 35 § fam w

e s Nee widle waar

() 18,200 qup (h) 226u8%
(6) 46,000 144 (d) fonfaz &t dtzr 77 Aaer
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' ﬁ’””“wm plo ehartu and solve the questiong bywed on it
A7 AT
W Al

7

Al
18% A
1477

A4 Rz
“%
Percentage wise distribution of land

g are the ) under forest, coyver )
A3 - Africa, Aq4 _ E B€ographicq) regions : A| _ Asia, China, India, A2 - Australia,
Population densit ufolif’ ~ Russia, A6 — North & South America, AT ~ Antarctica,
Forest Cover) y = ( €rcentage Population of Animals) / (Percentage [Land Area Under
8. Which two

(a) "A1, Ag “B1onS have the

combined highest population density 7
o @ AL ORIV 4 wp 3\1’ A4 (d) A3, A8
P next 10 years, the population of wild animals in Antarctica wif] increase by
) more_: than that in the rest of the world
of animals ip Antarctj ,

what will be the percentage population
1ca after 10 years ?

g . (aca) 157% . (d)” Cannot be determined
157 s 2 Etenft ot 3 nrfas ymat & o g

Mmﬂﬂxﬁ&mé}@hﬁwéﬁ mamwamwa
ﬁ%mgirﬁwﬂzaaa:Al—é‘fﬁm,eﬁa,m,M-mwﬁm,Aa-nm.M-gau,
A5_gﬂ,A6-8§a°rnf§€ué}mraﬁar,A7—'ﬁ?s?'aafzav|
ASAYT WET = (Fraegt ot ,aﬁﬁﬁim)/(ﬁamémmwg)ﬂéqﬁa—ﬁu
S Auny v T S o w1
(a) Al, A3 (b) » AD ¢ , (d) A3, A6
. 7 m%mwﬁm&?mwmfwmm
? E2,5%@W@a?mmémmmem
AsHfat yFssr filat deeft
(a) 9-5% ! (b) 10:-5% (c) 15:7%
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y l ﬁ M ""’hlu Wtmajor aleion, T T 2 % T Emm=
s o, e , ) //"{ VoA it ps e S > -
' Y ‘, b ratio has ey ,_,,;,, T Y zmE = s
recuesly ) , , 1130 SOr p ]
| k‘ : | "“; Wvtsyolitions  purtins por 5 L wehy irmbr = e
g ol Wi N Wt fe 5 — = & -
R - proossions sy e T L, s it F 2z = =
following rontes, 7 U 15057 Gimr e
Congrogs ‘ y ' ’
¢ / y v S J gy . ; .
“," A (/ ,, ’.1 //4‘:" . }/{/,")';',
el . PR TR 7R 4 VA ¥ . S o
s L ABDE
Ll C AR, St 17
) L MHEIB. . ABCE
B A TR ER7) S e 17 ;
e -
OPM L Ao T s BOE
IR, @ ACD
Blrest,. B0 ennnot, used for o politics) BD Fft £ = ; B
procossion on Thursday dus 1 4 religious ) eBIZ 3 T 2 TEE FEE T
O . ¢ " 74?;'_7",/7 7‘-—— P z - - _ _
procession, 'The digtrict, administration hag |~ 7777 FEES EBE ZE z=tmae o
nopolicy of not, allowing more than one | T | BT urRs & 5 = == = ==
procossion Lo pass along the same strec, on | FUF T2 pEEE = e = e = ==
the game day, However, the administration | &7 %% G Y33 7 wrrs =5 ==
must allow all parties to take out their Wl w2 e e == == =
¢ < - e == o =< <
procossion during these two days, iy T m= > B
i
, | 10, TFEFR £ 725 Fu= = e Sen
10, Congress procession can be allowed | 10 GOR QYR ARE T s EE =
; Aa=r o
(1) only on Thurgday. . ‘ . . .
(a} d=7 ziTs'T E
(b) only on Friday., N T
(b) T=ZEE=== 3
(¢c)  on either day, P -
Y (¢ fam & ==
(d) only if the religious procession is - < - - =
y g ¥ (d) =B F5= TI+3 A8H I€ I
cancelled, -
J |
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11. Which of the following is not true ? 11 o At e
: FTgIgH
(@) Congress and SP can take out (a) &2 Fae I6 | )
their processions on the same A A 2 AsA gec
d ) FrAoH. 2 é'ag'a; _w
ay. '
St nirfamrr &3t TSt
() The CPM procession cannot be

allowed on Thursday.

(©) The BJP procession can only take
- place on Friday.

(d) Congress and BSP can take out

their processions on the same |

day.

12. Which of the following sentences is

correct ?

(@) Its finally a holiday, and my dog

is happily wagging its tail.

*(b) Its finally a holiday, and my dog
1s happily wagging it’s ta11

(©) It’s finally a holiday, and my dog
is happily wagging its tail,
Gy

is happily wagging it’s tail.

3. When I met her laét week,

she seemeq
to be the weather,

(a) over
(b) under
(¢) against

(d) None of the above

It’s finally a holiday; and my dog>

i 1s
12. Which of the following sentences

correct ?
(a) Its finally a holiday, and my dog
' is happily wagging its tail.
(b) Its finally a holiday, and my dog
| is happily wagging it’s tail.
(¢) It’s finally a holiday, and my dog
1s happily wagging its tail.

d) Its finally a holiday, ang my dog

is happily wagging jt’s tail.

eek, she seemed
—— the weather

(@) over

(b) under
(c)

against

Paper ||

(d) None of the abovye
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14.

15.

16.

17.

Paper ||
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In a meeting Ry
\ A)ita alw .

: ays beging her
nte ' ’
2.:._.. NCOS with ] may ho wrong, bhut,, .’
or, ‘Excuse By et

following ?
(a)  Assertive
(b) Passive
Manipy)

Pasgive

None of the above

aggressive o
ative

(c)
(d)

Before any ne
met the client
him and liste

.mcamao? Ramesh first
informally, chatted with
: ned attentively to all his
points, O.s_v~ when he gathered al] the
85<m5. information, did he push for a
negotiation. Ramegh was a

(a) Win-loge negotiator

(b) Win-win negotiator |

(c) Lose-win negotiator

(d) None of the above

Gita listened to the views of others

mbm. then analysed them according to
their merit. Her listening style was

(a) Judging

(b) Evaluative ,

(c) Active

(d) None of the above

Suppose you have a 12-hour digital
clock where the number representing
the hour is always the same as the
number representing the minute. That
is, the clock can only show times like
8:08, 9:09, 10:10, etc. What is the
smallest time difference between two
such times ?

(a)
(b)
(c)
(d)

101 minutes
61 minutes
60 minutes
49 minutes

(D-

14,

15.

16.

17.

i

A
o

8)

e

Wear feg aiftar mnsz zat § st
fen 3t yg aedt 3 awz T HoR

o g w@t et wdedT oW
AT, ug...” g Harg ot faadt A
8 @t Y g

(a) Ewwdmwm (Assertive)

(h) Uz nErdfire a7t Wehmfez

(c) Ufz
d) €az fea' a2t adt
d-Imt 39 3 fug £ fme A, B8

85" § It © nug 3 femaRE a9t |
€R < res-A

(a) fogefed

(b) Hofaz

() nafez

d) Ba3 feg ozt adt

W &= fa 303 o 12~ feHtesm
vier 3 i feg frgar vie Wiz § emer
Wm%im%ﬁmmmn@w_mn
T I I e e Ant T Faer
J 8:08, 9:09, 10:10 =d9 | few yarg
e € Afirt feg weusy B T nizg
ot I 7

(a) 101 fife
(b) 61 fifc
¢ 60 fifz
d 49 fie
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19.

Read these six conditional claims -

1. it
If it's an apple, then it's a fruit, .

If it's a fruit, then it's an apple
It's an apple if it's a fruit.
It's a fruit if it's an apple.

It's not a fruit if it's not an apple

ZEE U

It's not an apple if it's not a fruit.
Qut.: of these six conditional claims
which three claims have the answer as
Yes ?

(a) 2,38,5

(b)) 2,3,4

(¢) 3,4,5

d 1,4,6

Hina Yellow, Jhanvi Red and Leena
Gray each have a gray handbag, a
yellow handbag and a red handbag,
but none of them has a handbag colour
that matches their name. They met
unexpectedly one day. The lady with
the red handbag commented, “How
odd!” to which Leena Gray replied:

" «“Most odd indeed!” Which option about

the lady name ‘and colour of the
handbag is correct ?

(a) Leena Gray — red colour handbag,
Hina Yellow —. .gray - colour

- handbag ;.
Leena Gray — red colour-handbag,

~ Jhanvi Red — gray colour
handbag ‘
Hina Yellow -~
handbag, dJhanvi
colour handbag

(b)

red colour

(c)
Red-yellow

colour

Leena Gray -— yellow
red

handbag, Hina Yellow =
colour handbag

(d)

(D-9)
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21.
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Read the
carefully

information
the

following
and  then
question given below,

answer

1. AAB means A is mother of B.
2. A@B means A is sister of B.
3. A*B means A is father of B.
4. A#B means A is brother of B.

Which of the following means R is
uncle of T ?

(a) R*P#SAQ@T
(b) S*PHR¥U#T
(¢) P*R#Q@S*T
(d P*R@Q@S*T

Warangal Warriors, Thapar Thunders,
Rohtak Rockers and Vellore Vikings
are four Kabbadi Teams who compete
against each other so that there are
six matches in order to decide the
champion.

1. “Vellore Vikings” is beaten by

“Warangal Warriors”.

2. “Thapar Thunders” beat “Vellore
Vikings”.

3. “Warangal Warriors” and
“Rohtak Rockers” beat “Thapar
Thunders”.

4. “Rohtak Rockers” beats
“Warangal Warriors” and “Vellore
Vikings”.

Who emerges as the champion ?

(a) Warangal Warriors

(h) Thapar Thunders

(¢) Rohtak Rockers

(d) Vellore Vikings

(D-10)

20. s Hust e o g fag d6t 73

21.

ymst @ 83 fe |
1. AAB & n@E 3 A, B & HIT |

9. A@BE n@E I A BT ITI I
3. ABE n@E A BEfF I
4, A#BTw@EIA BT FIJ |

forns fed' fam & @@ R, T & WS
J, e Y Y

(a) R*P#SAQ@T

(b) S*PHR*UHT

(c) P*R#Q@S*T

(d) P*R@Q@S*T

it Us 7 2 A9 feu W3 © 2nw &9

sEt fea g fedu ySioet o5 |
TIfenET” 3 gafenf |

2. ‘“‘Bug 39w 3 ‘W9
Trfefdam” § gofenr |

Jgrfenf |

4, ‘Jo3q  JaE9E” ¥ ‘Tdom
& gafemrr |

dz 73 ¥  gafonr 9

(a) TIIS TIENET

T §399

CRECARERR]

W9 rfefolar
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22. The afternoon classes in a school be

23.

gin
at 2:00 P.M. and end at 452 P.M.

There are four afternoon class periods

with 4 minuteg between periods, The

number of minutes

in each class

period is
(a) 39
(b) 40
() 36

d) 45

At a party there are 3 large pizzas of

equal size. Bach Pizza has been cut

- into 9 equal pieces. g of the first pizza

has been eaten; %‘\\of the second pizza

has been eaten; % of the third pizza

has been eaten. What fraction of the

3 pizzas is left ?

(a)

(b)

SIS ©|ro

(c)

(=R

(d)

D =

Paper ||

22, Ao few, we

23.

efigg dnit awmt
2:00 ¥ gfiwe ww gy Jdort s 3
4:62 3 T we yar ot a6
e gfugg o Wdhag s w3 aw
Uiinis few w19 fitet o wagr 3 1 99
o Wdrs 33 fite o Y |

(n) 89
(b) 40
(¢) 36
(d) 45

um-frfevf‘mmm I’#ﬁ%’%tﬂa

(c) 1
3

@ 1
6

(D-11)
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Paper I

olumes of Encyclopedia ot:
With no spngihl:m sit in order on a shell
upright qo{ etween the volumes, all
visible ‘lqi’t tll{l.t their spines are
Each s aoto vight : 1, 11 and 1L
24 mm\ot‘t mm - thick, comprising
each cover otal pages and 3 mm for
page 1, v ll. A bookworm bores from
\'Olume' IIlO‘ \]:;“0 I, to the last page of
L How far does it travel ?
(@) 90 mm

() 36 mm
©) 72 mm
(d 84 mm

Animal Kijy,

According to g survey at a company,

20 percent of the employoes owned coll
phones in 1994, and 60 percent of the
employees owned coll phones in 1998,
From 1994 to 1998, what was the
percent increase in the fraction of
employees who owned cell phones ?

() 3%
(b)  20%
() 80%
(d)  200%

From 2018 to 2019, Mohan's annual
salary increased by 10 percent and
Arun’s annual salary decreased by
6 percent. If their annual salaries
were equal in 2019, then Arun's
annual salary in 2018 was what
percent greater than Mohan's annual
salary in 2018 ?

(0) 1691
(b) 13-34
(¢) 15678
(d) 1098

24,

(D-12)
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R ERY ¢
éh Jfmr famlt fix €3 T\ -
3 At prart Qua I8 (uy
| g ©
gﬁlﬁ?\ or RS AT tbp;:\‘:
2 NELES 1L o9 f
Famoe L

)
gl\t
N

H.
gt HerE!

30 mnm., 3
fﬂ'&? ' 3 mm ‘HTH'\“ ‘1 = :\}Wd} }Ti-ﬁ

" ayust 12 = N
st ufoedt et © > N D
@))Mﬁzﬁa*&'fﬁ?ma .

figet wrsar W=t T

(@ 90 mm
(b)y 36 mm
(¢) 72mm
(d) 84 mm

U fea Aot ¥ AT, 1994 R!t:‘
900 FAHETE ARIS TR AS NS
1998 feg dud ¥ 60% JaHudt AN
35 R AE | 1094 T 1008 I ASAS

RE T woHodht @ NS
(fraction)  few Q8 ybms W
Jfempr ¢
®) 3%
(b) 20%
(€)  80%
(d)  200%

2018 ' 2019 3IX, Hos & Ave
ST R 10% o G wR niga
& A /T 6% W | A" 2019
few @t it Wt It warwg s
3t 2018 few wige @ s Nos =i
2018 @ s & Ay
A 9 ‘

Jqu

() 1691
(b) 1334
() 1678
(d 1098



27. A candidate Scores 2()

45 marks ang another candidate who

scores 45% markg gets 30 marks more
than the mj

% and fails by

(@) 100
(b) 200
(©) 400
@ 300

Distances from
New Delhi by Alr

Distance in Kilometers

Number of Plane Trips from New Delhi to
Ranchi, Kolkata, Panaji, Pune, Kavaratti, Munnar

Number of trips per month

T T T L

A8 O N D
Months of year 2015

Paper ||

P

27 ?m@wdmﬂmoﬁ%qﬂ@;mmﬂw
| w3 45 v Wiz Iz aras 2w J A
w3 fex 39 Sfteeg 7 45% immju_ﬁﬂn(:
sger 3, Ytfimr um w@s @ ule
st 3* 30 i Fu B Her ¥ | udtfior
342U nix TIAQ |

(a) 100
(b) 200
(c) 400
) 300

3: 28 - 29) : 9 o5t aret
Mﬂ&w&%@a@@ﬂ e st fE F
6 HETF & 2015 Ry o3 & 398 3
e
ﬂ&%wﬂ@w&

N.ang

1,800

1,600 |
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Information :

ot No. 30
. : (Q. No. :
y ro ctions
1. Due to some reason planes only made 1. g ~ ) Dire - the mass
these trips  before op after  the 13 sl TII gt ATy defined a beltnh’j uare
. ToT S -wag 5 e ; divided by the 3q .
January-March period, =AY T ufgmr a B The data about
f'i'ng‘rqum. £ 3 L metres). € )
2. The month of May offers the best, 7 TR At st given in the table below.
weather conditions, 20 MR = (== T T <
3. The easterly winds run at 2 km/hour YUHIR gaur i | Person  Height
east to west all year, 3.y T Frgr o A 1-45
- UIF T dmy
4. Planes on trips to Ranchi and Kolkata 2 fammteg Yt ufer 3 GE’E"\Y= A TE | ’ B 1-50
must push against the easterly winds, 4. TR 3 5 . C 1-55
5. Planes on trips to Panaji, Pune and Tere & ¥ g AR “E_“' S yIEr D 1-7¢
Kavaratti are carried along by the o e e g ' E 1-8
easterly winds. 5. UE, um w3y AT § 7T wowt £
6. Planes on trips to Munnar cross the YIH gt MUE Fy famidhor T5 this da
i : D Based on this data a
current and 8o experience no counter HoS & gragr 3 7Y 79H fer usH below :
or favourable effect, 393 & B 3 7 I5 | fen »e fxm
IE T 0ETS yB= T nipge s
28. How far is it from Ranchi to Munnar ? ECEA ' 30. Which of the
(a) 3000 km 28. st 3 &R A3y greatest BMI ?
(b) 2000 km @ 3000 fadites fa)
() 800 km (®) 2000 faiey ® B
(d) Cannot be determined (©) 800 faditeg
) C
@ forfoz sft st 7 Aeer
29. Taking account of the distances and : @ D
the winds, if a plane were to fly from | 29. g==t w3 Tt 3 feus few ¥fonr
New Delhi to Kolkata (to and fro) and Ifentt Fam fex Fiidt sezw o fox
another one from New Delhi to Pune A9H &= 8 3 ST 3 83w 59 31. If an adolesce
(to and fro) at a constant speed, which (Bz-7) »3 fex 99 =ow = 10% and his
trip would you expect to be completed T 3 u3 (mBz-7%) 85 33 = much will his
quicker ? (No stoppage) fsoft wzar 3 weet HX d= & (@ Plus 116
(2) New Delhi-Kolkata (to and fro) BT F9w § 7 (fast )
. . pen 8= ® P1 q
(b) Both trips would take the same (a) &= fed-dmasT ( SE-A'T) e
amount of time (b) T w3ge fed At st (©  Minus ¢
(¢) New Delhi-Pune (to and fro) () &= fTH-ud (@z-wr) @ Minge -
] us |
(d) Cannot be determined @ forfes a3t &3 7 Aaw
Paper || (D

Paper ||
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Directions (Q. No. 30 - 31) : BMI is
defined as being the mass of a person (in kg)
divided by the square of the height (in
metres). The data about 5 persons has been

given in the table below.
Person | Height (m) ’ Weight (kg)
A 145 | 45
B 150 | 50
(; c | 18 | 56
p | 170 |
| B | 180 |

Based on this data answer the questions

below :

30. Which of the following has the

greatest BMI ?
(a) A
(b) B
(c0 C

(d D

If an adolescent’s height increases by

70

2 839 fe€ :

30. fe”?fﬁé"faﬂera?mnﬁﬁ(BM)
A3 3 fiporer 3 7
(a)
(b)
(c)
(d)

U o w »

31.
10% and his mass by 10%, by how
much will his BMI change ? 31. Agg frx feammts foraEt & &€ niS
(a) Plus 11% | g9 E% 10% Zuer 3 3 BF ¥
ot feg o ufaeass niQar ?
(¢) Minus 9% (b) UBH 10%
(¢) HTEISH 9%
(D-15)
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Directions ( Q. No.

diagram 8tven below
An automobile

. . company has advertiseq for the appointment of trajpee engineers in
different disciplineg, First the applications Teceived are thoroughly Scrutinized and good
ones are called tq the main centre of t

written testg are o

he company for ty, written testg
f2 hrs duration each.
The first written t,

est E; checks the general s
test E, checks tp,

Sclentific background ap
e basics of the discipline. E

appear in both E, and E, but only those who

for final selection.

2-33) : Answer the following Questions based oy, the information, and

and a viva. The

d the second written
tes were required to
to appear in the viva

arlier gaJ] the candida

clear hotp were allowed
To minimize the ¢

ost, the Company has decideq to change the Procedure. Now they want to
conduct thig exam j
. it in either written test (E or E,) and if
€ Passes in that he/she will go for next stage in which Company may take his/her other
written test or Viva, If he Passes in this second stage, he wil] go for the remaining exam in
third stage. ‘

A candidate hag to pass both the exams
if s/he fails at

¥ 500 per candidate for conduct;
. following historical dat
selections.

Out of 100 Candidates Appearing in First State

Cleared E,
but failegd

After First Stage

Out of 60 Candidates
(Who Cleared E; Test)

Cleared E

but failed
After
First
Stage ,
Out of 70 Candidates
(Who Cleared E; Test) ‘
Cleared E Cleared Vivaj
but failed qiled in E,

-16
Paper Il (D )



< based on the information and

nent of trainee engineers in
roughly scrutinized and goog
sritten tests and a vivg. The

»und and the second WTritten
=ndidates were required to

llowed to appear in the viva
-ocedure. Now they want to

tten test (E; or E,) and if
oy may take his/her other
‘or the remaining exam in

n. A candidate is rejected
or conducting each of E;,
- available from previous

t of 60 Candidates
ho Cleared E; Test)

”W&gﬁmmw@m,
IS 7 few Q9 @ieerat § B, w1 E, et it o et o fog B o e
Wmmﬁﬁﬁ@ww&énﬁ%?wﬁnﬁwﬁmﬁgmgﬁﬁgﬂﬁ
fEut udtfimm 7 ifie udtior (viva) B mect 3 | 75T §7 TAAt HeW § uH a9 BT 3
57 87wl SfSet udthimr met Shdt mew frg arEer | )
m§%%w€%%&3&uﬁwwﬂﬁauﬁwmva)wmu€aﬁl
fai &t nerer few 35 3 e 3 Grftees e I A T E;, Ey »3 Hiftrg udtfimr (viva)
aaf‘ea@ﬁme*ys&@rﬁewsooguémﬁ I foHs ugedn A@aHE =T
100 BHtesrst v fefsoma rigsT Queay I |
Ufadt merer feg »nfing T 33 100 Sfteea fed




)'-aﬁwwawm?aaﬁénﬂmﬁy:
ﬁammm%@@mm@ﬁgmmmmamw
Iefommz fogr | -,mﬁéﬁ%-ﬁg%@mw?mﬁywﬁmﬁm
EM%HH%H%UéfmﬂuaﬁwmgﬂfuauﬁW(ma)mWW
Y |33 it wdifionr gy |

TR fefamiost firgos & 39 o993 w3 TG fawrt utfimor
Ey »Ermz ¥ wfomrdt v o fefomires 5

(D-17)



2, .
What 18 the ratio of the «percentage Of

Candidateg clearing E, exam in second

Stage after clearing E, exam in first

Stage” ¢, “Percentage of candidates

Clearing E; exam in second stage after

clearing E, exam in first stage” ?

(a)

3|

2
"3

(b)

g w

L2
T

(c)

ESTRTN
3w

(d)

3| w
O | -t

33. What is the percentage of candidates

33.
who are failing in second stage viva

exam after clearing E, exam in firt

stage ?

(a) 66'7%
(b) 75%
(c) 25%

(@) 83:3%

Paper |l (D-1g)

(¢)

3|
| w

(d)

3|
o=

%Méqﬁmﬁﬁ%ﬁ
mmﬁ'ﬂ?z“ﬁfﬁwwm

- (viva) o9 35 32 9

(a) 66-79
(b) 759
(c) 259

(d) 33-39



Directions (Q. No, 34 _ 35) .
questions are based on the in ;
diagram given beloy - formatio

A survey was conducted op g sam
cinema artists with reference

proficiency in the skill of acting sins:

. 8, singin
dancing. The results of the SlU'Vef and
depicted in the given Venn diagram are

B

Dancing

ple of 500
to their

Acting

Singing

34. What is the ratio of the number of
cinema artists who are not proficient

In any of these three skillg Xy to-

those who are proficient in all three

X3 ?

(@) 5:7
(b) 6:7
() 3:5
(d 1:9

35. If all other data remains same, how
many cinema artists who are not
proficient in any of these three skills
should become proficient in all three,
so that the above said ratio between
number of cine-artists who are not
proficient in any of these three skills
(X,) to those who are proficient in
all three (X3) should now become
Xy X;=1:47

(a) 12

(b) 21

(c) 15

(d) 10

Paper Il

et (Y5 & 34-35) fea s 79

T : . o
- 'wﬁmlméﬁﬁwg

f53 i 22 wai 3 wamfenr fomr |
et
e e B
DY
g
I

34. o e 7 fegt fed fom & To9
ﬁggﬂ'&ﬁaﬁ(&)gwm
7 st 3ot feo Toaie 76 (X) & I
(ratio)at & 7
(@) 5:7
(b) 6:7
() 3:5
d 1:9

Hag gt viagr fed afder I 3t A
firdw awarg & 33 gaat feg gms
&5 I5, TEfEs g gmg I e 3t 7
Qus nifas frew awarat # fan <t
759 feu 378 &t 76 (X 3 7 55
769 (X few 978 o5 & I o=
Xy:Xy=1:4 GE AT |

(a) 12

(b)
(c)
(d)

35.

(D-19)




. . . below i
Directions (Q. No. 36 - 37) : Based on th¢ information givel be

booking price scheme :

s 11} 2 3 F
e Select a Select number | | Select further
destination flight of passengers options
A 2 08.00] Rs. 22600(| A[1[2[3]4 Luggage in » Add Rs. 2000 por 107
17.00| Rs. 7600|| A[1]2]3]4 hold
B B [06.00] Rs. 14200| | B[1[2[3[4 00
B [21.00| Rs. 9800|| B[1[2[3[4 PAGLRSS
C c [i1.oo] Rs. 6300|| C[1[2[3]4 '
. C [22.00] Rs. 7200|| C[i[2[3]4 o Add R 500
D D [08.00] Rs. 8000|| D[I[2][3]4
D [16.00| Rs. 10400|| D[1[2[3]4

* These additional costs apply to cach passenger per flight

2 36-37): aew?aﬁwaﬁﬂmﬁyw@ﬁ?mﬁgw?wfw

e
1 2 3 4
Hfs IBER yAea & nABI
ge ge freftge | | feamu ge
A [08.00] Rs. 22600 | A[I[2[3[4 Py .
A A [T700] Rs. 7500| | A[1[2[3]4 23 +2000 U nirfeay T
B B [06.00] Rs. 14200| | B[1]2]3[4
B [z1.00] Rs. 9800|| B[1[2[3[4 p— I . )
ey gi_| *900 gue =T
C | c [11.00] Rs. 6300 c[1]2]3]4
¢ [2z00] Rs. 7200|| C[1[2[34
- TIee
D [08.00] Rs. 8000|| D[1]2]314 &t <J — )
D D [16.00] Rs. 10400| | D{1[2]3]4 e e dr_| *360 que Fr
[ I

s¥t @l
n(fEUWMWWQWWW :

Paper Il (D-20)




36.

37.

38.

Paper Il

How mucly more is the cost of 4

morning flight compared with g
afternoon flight for i
destination B with

and totg] three items

of hold luggage 7
(@) <9600
(b) = 22800
() = 4,400
@ = 17,600
A party of three book to fly on the
afternoon flight to destination C ang
opt for total two items of hold luggage
and the environment offset. How much
is the cost of their trip ?
(a) ¥ 26,650
(b) ¥ 25,600
(c) ¥ 26,300
(d = 27,600
Set M has 42 students and set N has
60 students. At least | 12 of the
students in set M are not in set N,
Which of the following cannot be the
possible number of students in set N
that are not in set M ?
(a) 32
(b) 45
(c) 28
(d) 42

B

36. 99 HET' ? feq ufserg met, Hfive B

317.

38.

(D-21)

] N

3 W w3 R omee g 55
e ¥ T & ewele 58
faat 2 otz & Y 9

(a) ¥ 9,600

(b) ¥ 22,800

() ¥ 4,400

() ¥ 17,600

o foradinrt @ mga & C s wet
e Epram;fg”a(book)
R
Jft ¢

(@) ¥ 26,650

(b)
(c)

(d)

¥ 25,600
¥ 26,300
T 27,600

M RZ &5 42 fefonradt o5 w3 2 N
feg 60 fefenmadt a5 | W we M B
T 12 fefenrgdt 3¢ N fem at s |
fors s AE N 2 wifd 3 Barfeg
fefeonroet &t & Fa@ 7 fx A Mfeg
&t 95 9
(a) 32
(b) 45
(c) 28
(d) 42




39. When the following shape is folded to
form a cube, which is the only one of

the options from A to D that can be
produced ?

4]

Options from A to D
A B C D

(a)
(b)
(c)
(d D

o
A

Q= »

40.
40. A container of milk was % full. When

5 bottles of milk were taken out and
3 bottles of milk were poured into it, it

was % full. How many bottles of milk

can the container contain ?
(a) 12
(b) 24
() 20
d 15

41. The cost of mowing a square lawn at 41.
the rate of INR 700 per hectare is
INR 4,375. The cost of putting a fence
around the lawn at the rate of

INR 45-45 per meter would be (in INR)
(a) 10,000
(b) 43,750
(c) 45,450
(d) 25,000
Paper || (D-22)

39. #¢ foHs a9

fage fed W3 &
ufgegfss otz Aer 3 3t A 3 D 3
Yo fxogt nmuEs e § AaE 2

(]

o)

99SE

(a)
(b)
(©)
d D

Q w >

éuwés%sﬁwﬁfemﬁlﬂ%
5 §3% ©U oif o et aiehrt
w3 f3s 3% du dnf ur g
" | Su R In feu f&dnt Ta dhrt
3% U A I5 ©

(a) 12

(b) 24

() 20

d 15

fea AT gate @ deeEl & s
INR 700 Y=t I%e3 ® fomm &
INR 4,375 3 | S99 € 99 UR T3
BAEE Tt tH3 INR 4545 Y3t e @
forme a7 &t deat (INR feg)

(a) 10,000

(b) 43,750

(c) 45,450

(d) 25,000

f>=5<"
42. which of th

correct ?

(a) 24 x 4>
®) 24< 4>
() 24#4<
(@ 24>4%

pirections: (@ |
following inform

questions using th
There are five b0y
in the first line fac
are five girls, AR
second line parall
facing to the nort
sitting in such a w
e Ais sitting :
e q who is ju;
opposite to ]
e Bandr a
each other.
e t is opposi
right of A.

43. Which pair
each other ?
(a) CD anc
(b) AC anc
() CD anc
(d) DB an

Who is sitti
(a) B
(b) D
() A
d E

45, Whlch of
diagonallyc
@) ¢t
(b) Eq
(c) Ap
(d) Dp

Paper 1]



@2, If>=4 <= + X =
which of the follo
correct ?

(@) 24x4>20<2416
() 24<4>24#2x16
(©) 24#4<20x2>16
d) 24>4x20<2#16

=and # = - thep
wing equations jg

Direci:‘ions: (Q. No. 43 - 46) : Read the
follmqmg information and answer the
questions using this information.

iPhere are five boys, p, q, r, s, and t, sitting
In the first line facing south, However, there
are five girls, A, B, C, D, and E, sitting in a
sec.ond line parallel to the first line and are
fa.acmg to the north. The boys and girls are
sitting in such a way that

* Aissitting at one end of the line.

* q who is just next to the left of s, is
opposite to E.

B and r are diagonally opposite to
each other.

* t is opposite to C who is just next
right of A.

43. Which pairs are sitting opposite to
each other ?

(a) CDandrt

(b) AC and sp

(¢) CDandts

(d) DB and sp

Who is sitting third to the right of C ?
(a) B
(b) D
(o A
(d E

Which of the following pairs is
diagonally opposite to each other ?

(a) Ct :

(b) Eq

(c) Ap

(d) Dp

456.

Paper |l

(D-

42. ﬁaﬂ>=+,<=+,x___=m%#=_’5’r
@"T fed* foodt fesens (equation)
Sl & 1 .
() 24x4>20<2#16
(b) 24<4>20#2x16
() 24#4<20x2>16
(d) 24>4x20<2#16 n
ToES (YFE B 43 - 46) ; 5 FI5 D
e ”f?(yy;; & 659 gos § eIt
et 178 |
ﬂqm,mq,r,sm?tuﬁ'&ﬁagﬁf‘ag
S Aoy 83 5 | Bfds, UA FFamT 75,
A B, C,D 3 E 7 ufad a3 & AHG3T
o AFITRfeaniz feg 8ot J |
o qs¢fEATHEY, E foud3 T |
e B3 r feg g9 ¥ sfeawst
feudz a5 |
e t,CTfudz 3 7 fa A ® feaen
3
43. foo3 He fea gd @ feudis 83 75 7
(a) CDW3 1t
(b) ACM3 sp
(c) CD3ts
(d) DBWI%sp
4, CYHI U T = 957 I 9
(a) B
(b) D
() A
@ E
45. ﬁﬂﬁﬁﬁ@-m : o
A © foudts 7% ¢ A
(a) Ct
(b) Eq
(c) Ap
(d) Dp

23)




43. 1f Q ay q
. N\
l'llte D.
" hang, they ™t ang q and B
i 00':: )Ositinns, then who
whol)}‘-l‘son to the right

‘S‘ OPposite to the
® Tight of 1y 9

Se

No,
Passage o 27 ~ 48) : Read ghe

- Solve the Questions

o ‘?Il, Dmesh, Eeshwar

. ae Cousing, None of them are
bil‘thdayS on €, but all of them, have

Ame date The youngest of
d and g

Which of the followip
(a)

(b)
(c)
(d)

g is not possible ?
Dinesh ig 20 years old

Ferguson is 18 years old
Ferguson is 19 years ol
Ferguson is 20 years old

If Bharat is 17 years old, then which of
the following could be the ages of
Dinesh and Chandan respectively ?

(a) 18 and 19
(b) 19 and 21
(c) 18 and 20
(d) 18 and 21

Paper |l

e
Q = T

(d)

TENEF" (yw5 & 47-48) Wﬁ*ﬁw
o3 o 3 ety 8 9 @5 1
SYIHE AfiT5 (cousins) T | féat fed” Bt
éﬁa%?ﬁﬁuﬁméw
o & o3 it 3 1 fogt e 79 3 2
17 7S & I w3 Bheq, A 3 =5, 22 A
T3 | T Ou9 few a3 IS w3
feon ¥ fewa 3 1 wifig a93 3 2 3
"3 Pes fedm S |
41. gt feg off Hige at 3 9

() fedm 20 At or

(b) TIIHE 18 A = 3

(©) TIIH5 19 At @ 3

(@) TITHE 20 At @

48. AT I3z

(d)

(D-24)



Directions (@ No, 49) : Read the
statements and solve the question
these,

/ii//fmu',w

baned o

gerfirt (i & 49) e [y A0 Te4

A
B.
C.
D.
E.

49,

50.

Paper Il

Many ones are threes,
All twos are fours,

A fow ones are twos.
All fours are threes.

All twos are threoes,

In the four options given below, throe
statements are put together in a
specific order, Choose the option which
indicates a valid argument, that is
when the third statement is a
conclusion drawn from the preceding
two statements,

(a) DEB

(b) ACE

(c) CEA

(d) EAC

Which of the following statements
follows logically from the statement
“India will talk, only if the terrorists
are handed over” ?

(a) The terrorists are handed over,
hence India will talk.

India will not talk implies that
the terrorists have not been
handed over.

(b)

India will talk though the

terrorists are not handed over.

(c)

India will talk implies the

terrorists are handed over.

(d)

wi st 3 ol st & 9 Jd

A
B.
C.
D.

I,

49.

50.

(D-25)

ER IR CIGON
AT 2] @i 96 |

gy Ao ¢H JE |

yrrd @dil ' 98 |

g 2 adly 75 |

35 ot grg wumst fég s a8
feig g few #3 ae 75 | BT »uTa
o fsRaan 9e o yufea edis 0e |
(a) DEB
() ACE
(c) CEA
(d) EAC

fosorser & ¢
(a)

(b) 393 3% & F9r I Iw J f&

famrr |

(c) FTI IS AT I MRS
 Aftmm w3t famrr |

(d) I3 I o I Fw I fy
SR KU e |



N A duflet. SIX sweets A arrgy ved
D S s 3 ; ‘
s cireulsr onder Q0 A tabe N

| 5y
copesite Halwal There ¢ m\?\\f—ﬁ‘ is
Ntween Laddu ang Jaleb SWeet
ama B W the right of‘ Gulay
Rassgulls is one of the alwy,

N \\‘eeh\ Whi
swaet 1S two places awgy S Why

ch

B3. Who is the fourth ranker
% (a) Charan
0t
Gulsd jamun ? he leg of (b) Pavan
& Lsddu (©) Sravan
» Rassgulls (d) Tarun
@ Jalehl )
3 N B4. How many persons :
& Hslws v Povan ?
= :\mctfthreeismbeselected (a) One
i\x petsns Psvan. Sravan (b) Two
Rschsvsn, 2 ' .
Bhevs ‘nnmh on. Dhaway and (¢) Three
S35ven. such that if ope of Pavyy and @ F
ST=vEn 1S selected ; R our
2t be sel 0 the other g .
SRS ectei one of R N R
=2d Dhswan is not selected then 55. There are five rooms
SIRT muUSt not be selecteg If A the
2ot selected en whe o an 18
selected ? m

. . hall, kitchen, stud;
ust  be : t

and dining room. Th
each room. Wheneve
) is on, the study >
= Whenever the dinin
b Ps the kitchen light is
e the study room 1

¢ Raghavan
'd) Noxne of the shove

light has to be on. I
the most, can be on

@ 5

- b) 4
N N0 33 - 59 Thew : . © 3
:::.,O;;.mm based on the jollowing 3 @ 2
Pa“"\" Sy—a n s s
a:;i m‘*aT Charan, Taryn and Kiran . i 56. In a joint family
e P Ove rankers ip a class, pot S o R G D} E, F an
ST e S T
Person s the f t hmght. The tallest of G. D ios th.eAf
the serer Io:.xnh ranker while Kiran is father of E. F ;
least m:d ranker. Tarun 1S taller than at son. How is B r¢

© PeTsons and is the th; o
The o, IS the third ranker : (@) Sist
L. UTLEST person is the first ranker but | 85 ster
Jb:mcham-Sm'mstanert-hanomvl = Wﬁf%lmm&aﬁm@? () Uncle
C":‘&F“&!’st»ﬁami'[arunisLallerthan Kiran. E BT, 39 faws ¥ @ d '
Paper it

(c) Cousin
(D-26)

(d) None of 1}
Paper ||




83. Whois the fourth ranker ?

(&) Charan
(b)
()
@

Pavan
Sravan
Tarun

§4. How many persons are taller than
Pavan ?

(@) One
(b) Two
(¢) Three
(d) Four

§5.

There are five rooms in my house — a
hall, kitchen, study room, bedroom
and dining room. There is one light in
each room. Whenever the kitchen light
is on, the study room light is off.
: Whenever the dining room light is on,
: the kitchen light is also on. Whenever
the study room light is on, the hall
light has to be on. How many lights, at
the most, can be on simultaneously ?

(a)
(b)
(c)
(d)

N W o W

56. In a joint family of seven persons A, B,
C, D, E, F and G, there are two
married couples. G is a housewife. C is
the wife of B. A is the granddaughter
of G. D is the father-in-law of C and
father of E. F is A’s brother and B’s
son. How is B related to E ?

(a) Sister

(b) Uncle

(c) Cousin

(d) None of the above

Paper Il

53.

54.

55.

56.

(D-27)

& it gt 3 | S FeSt gH & FEC
maft gt 3 I g & sEE & A
5& odet I 1 fexd mY famrmer 3
ALt I& 7

(a) 5

(b) 4

(e) 3

@ 2

H3 HE3" A,B,C,D,E, Fni3 G T fex
Agas ufgeg f&g, © EES

I5 | G WIG U3t I | C, B = u3dt
I 1 AGTINIETI | D, Cw
AT IMI ET fusTd | F, AT 3a7

IMIBETUISTII | BT E 5% ot
forsr 3 7

(a)
(b)
(c)
(d)




57.

58.

59.

A bartende
r st
that containg ole vodka from hottle A

replaced Wh(;(tl f\O% alcohol and he

¢ had stolen with
€ B containing 20%

bottle B, whused water to replenish

ich j :
h is twice ag large as

bottle A,
content of Pgi;cter the mixing, alcohol

) tle A
What is th, reduced to 30%.
now ? € aleohol content of bottle B

(a) 667%
(b) 10%

(c) 13-33%
(d) 15%

?ate of. consumption of coal by a
ocomotive varies as the square of the

speed :and is 1000 kg/hour when the
speed is 60 km/hour. If the coal costs
Fhe railway company 15 paise/kg and
if the other expenses are
12 rupees/hour, what becomes the
total cost with a speed of 30 km/hour ?

(a) 270 paise/km
(b) 165 paise/km
(¢) 49-5 paise/km
(d) None of the above

A completes % of a certain job in
6 days. B can complete El’,- of the same

3
job in 8 days and C can complete 1 of

the job in 12 days. All of them work
together for 4 days and then Aand C
quit. How long will it take for B to
complete the remaining work alone ?

(a) 2:67days T QT(,_L\'
(b) 3-33 days g2t W
(c) 4days

(d) 4-67days

Paper Il g
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80. A hook containg 10 ¢

61.

62,

haptors,

chapter hag a different, numboy

chapter starts on
the largest possible

numbers ?
@ 9
(b) 8
(© 6
d 5

A ladder reaches a window that is 8 m
above the ground on one side of the
street. Keeping its foot on the same
ppmt, the ladder is twined to the other
side of_ the street to reach a window
12 m high. Find the width of the street
if the ladder is 13 m.

(a) 152m

(b) 14 m

() 146m

(d 12m

Sanjay writes a letter to his friend,
Kesari. It is known that one out of
10 letters that are posted does not
reach its destination. If Sanjay does
not receive a reply to his letter, then
what is the probability that Kesari did
not receive Sanjay’s letter ? It is
certain that Kesari will definitely
reply to Sanjay’s letter if he receives
it.

(D-29)
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Three alarm clocks ring their alarms
at regular intervals of 20, 21 and T
minutes respectively, If the clocks
beep together at 12 noon, for which
value of T would they beop togother
again at the carliest ?

(n) 8 minutes
(b) 18 minutes
(¢) 28 minutes

(d) 38 minutos

e
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(n) I8
(h) 24
(¢) 30

(d) 42
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Paper 1)

A person of 6 {4, height wants to pluck
a fruit which s hanging st L ih
distance from the top of a 20 ft, high
tree. The person  standing af 4
distance of 28 ft. from the trec throwy
a stone, which hits the top of the tree,
The man moves towards the tree and
throws another stone again at the
same angle, this time hitting the fruit,
Assuming the stones travelled in »
straight line from the hand till the
target, what is the current distance of

the person from the tree ?
(a) 211t
(h) 18ft
(c) 151t

(d) 91t

The cost of 10 pears, 8 guavas and
6 mangoes in 7 44, 1f the cost of each
of the fruits, in rupees, is a natural
number and cost of no two fruits is the
#ame, find the cost of 4 mangoes and
4 guavag,

"/,,
(a) 217
(h)y » 18
(¢) 714

(d) Cannot be determined

(D-~31)
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and

Dert) ect to liberty in the sens
gif 5111 Pgtht to free Movement, jp the senS;e(?i: g
ig 0 life ang limb. Why not allow

efit by an effective
3 and
competent use of 5 Person’s powers ? The

in the sense of g right to L
pProperty, would not readily consent to
liberty in this sense, inasmuch as it involves
Liberty to choose one’s profession. But to
object to this kind of libe

rty is to perpetuate
slavery. For slavery does not merely mean a

legalized form of subjection.... It is found
where, as in the Caste System, some
persons are compelled to carry on certain
prescribed callings which are not of their
choice. Any objection to Equality ? This has
obviously been the most contentious part of
the slogan of the French Revolution....
Equality may be a fiction but nonetheless
one must accept it as the governing
inciple. A man’s power is depex_ndent. upon
?II')IDC}IJP sical heredity, (2) social inheritance
or elx)ld{)wment in the fO}'m of parentz!l C;iui.ie.
i accumulation  of  scientific
edycaties, ing which enables him to
knowledge, eve_rythlnﬂglan the savage, and
be more eﬁiaept fforts. In all these
his own e i
finally, (3) on men are undoubtedly
three reggictie question is, shall we trezlxri;'
upeque s ual because they are unequa}.]
theﬂllta;‘:;e%e desirable to give as muc

neentive as possible to the full development
of everyone's powers.  But what  would
happen if men were treated unequally as
they are, in the first two respects Yo It s
obvious that those individuals also in whose
favour there is birth, education, family
Name, business connections and inherited
wealth would be selected i the race. But
Selection under such eircumstances would
not be a selection of the able. 1t would be the
selection of the privileged.... On the other
hand it can be urged that if it is good for the
social body to get the most out of its
members, it can get most out of them only
by making them equal as far as possible at
the very start of the race. That is ane reason
why we cannot escape equality. But therve is
another reason Why we must accept
equality. A Statesman is concerned with
vast numbers of people.... The Statesman,
therefore, must ... treat all men alike not

because they are alike but because
classification and assortment is impossible,
The doctrine of equality is  glaringly

fallacious but taking all in all it is the only

way a Statesman can proceed in politics

which is a severely practical affair and
which demands a severely practical test.

75. Which of the following is NOT a
reason that the writer gives
desiring equality in a democracy ?
(@) It makes people equal as far as

possible at the very start of the
race.

for

(b) It ensures that the preexisting
social equations continue.

(¢) Statesmen deal with large
numbers of people who are too
vast to classify and assort.

(d) Statesmen require a practical

plan of action

politics. .

76. According to the writer, supporters of

caste would object to liberty in the
sense of

to proceed in

(a) right to free movement

(b) right to choose one's profession
(¢) right to life and limb

(d) right to property

(D-34)

Paper Il



77. What are the three aspects in which
men

‘undoubtedly unequal,’

heredity;  Parental

Property; His own education

ysical appearance, Parental

mheritance; His own enthusiasm

1ysical Strength; Social status;
1S Qwn Spirituality
a hysical heredity;
lnheritance; His own efforts

If selection is done on the basis of
blrt_h, education, family name,
USINESs connections and inherited
wealth, then it would be
(@) selection of the privileged
(®)  selection of the able
(c) selection of the meritorious
(d) selection of the fortunate

Read the following passage and answer
Question Numbers 79 and 80 with reference
to the bassage by choosing the most
appropriate option, :

eminism at its core is about equality of
men and women, not ‘sameness’. So man
people offer up the argument that women
are not the ¢

Same’ as men and therefore
there ¢

an’t be equality. In other words,
because their bod

ies are different (many say
weaker or ‘femj ine’), and because men and

physical capabilities,
these physical differen,

(d)

Social
8.

believe it’s right to keep the weaker, smaller
boy from having the same access to the
teacher, to learning, to the computers, to the
books and class reso

urces, to other children
in the class — because he didn’t have the
same f)hysical strength as the other boy? It

is critical to understand that “same” doeg
not mean “equal.” The issue here is about
equal rights and equal access  to
opportunities. Men and women don’t have to
be the “same” physically in order to have the
right to equality. Feminism as an ideology
has always been highly controversial. It
asks such questions as: do women have too

Paper I

(D -

g+
\2© ’
. . ly
r too little power?_ _It is not on

::r:rlli?ov(:ersial as far as traditional d(;sferéd(re:l'z
of the status quo are concerned. 50 :
women feel that they are in favouljdo
equality with men, but do pot like thq idea
of feminism. It has been said that we 11V€h 1111:
a post-feminist age and some contend tha
the main goals of ferrpmsm have been
realized, so that it is quite unnecessary for
feminists to contmqe _thelr argument
against male domlnathn. ~ Feminism,
however, is also controversial in the sense
that different feminists mean different
things by the term. Therg are different
varieties that seem to have little In common.
Just as writers have spoken of socialism, so
feminism has also been presented in the

plural in order to indicate the diversity
involved.

79. “Men and women don’t have to be the
“same” physically in order to have the
- right to equality.” Why ?

(a) Because the theory of feminism
promotes that men and women

are no longer in a classroom and
can have equal access to learning,
books and class resources. :
Because the theory of feminism
promotes that both men and
Women are anatomically same
and therefore Possess  equal
mechanical strength.

(b)

() Because the theory of feminism
promotes that men may or may
not be feminists byt they believe

) in equal classroom learning.

4

Because the th

eory of feminism
Promotes

that being “same”

80. “It is critical to

understand that
“same” does not mean “equal.”
What does this statement imply ?
(a) men and

women are “ggme”
but never “equal”.

(b) Only men and women who are
feminist can be “same” and

© Sometimes “equal”.

c

'O man or woman €an either pe
same” or “equa]”.

€n and women
but can he “equal”

(d)

are not “same”
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